






































 
Answer for Kong Hwa School SA2-2007- Maths 
 

1. forty 25.   2/3 , 2/5,  2/7,  2/12 

2. 12 26.   1/6 

3. 102 27.   5/10 

4. 610 28.   5/9 

5. a. 409    b. 940 29.  2.35 

6. 186 = 3 30.  3.20pm 

7. 19 31.  C 

8. 4 32.  9 

9. 6 x 3 = 18 

18 ÷ 6 = 3 

33.  15 

10.  

 

 

 

 

Each of his friends would get 3 lollipops. 

34.   12 

35.    4 

36.    2, 5 

37.   2 

38.  5, 4 

39.  2 

11. 10 and 15 40.  3rd picture 

12.  20 41. 8 – 2 = 6 

13. 4,  18 42. 157 – 12 = 145 

14. 24 43.  126 + 24 + 13 = 163cm 

15. 2 44.  a. 4 x 6 = 24         b. 24 + 6 = 30 

16. 2 45.  a. 2 x 9 + 7 = 25    b. 50 – 25 = 25 

17. toothbrush, stamp  

18. 5  

19. 120  

20. 60  

21. 3.65  

22. 17  

23. 3  

24.  

 

 

 

 




